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funsZ'k &  1- lHkh iz'u djus vfuok;Z gSaA 

  2- iz'uksa ds vad muds lkeus vafdr gSaA 

  3- ys[ku dk;Z esa 'kq)rk o LoPNrk dk fo'ks"k /;ku j[ksaA 

Hkkx & v 

I v- fuEu x|ka'k dks è;kuiwoZd i<+dj fn, x, ç'uksa ds mÙkj fy[kks A    5 × 1 = 5  

vH;kl ds fcuk thou esa lQyrk ugha feyrhA igyh ckj çR;sd dk;Z dqN dfBu yxrk gSA 

;fn O;fä ml dk;Z dks dfBu le> dj cSB tkrk gS rks mls dHkh Hkh ugha dj ldrkA 

vesfjdk ds jk"Vªifr us vH;kl&Øe ugha NksM+k vkSj ,d fnu jk"Vªifr in çkIr dj fy;kA 

;fn ge vH;kl djuk NksM+ nsaxs rks lQyrk gesa NksM+ nsxhA eksgEen xksjh us i`Fohjkt pkSgku 

ij fot; ikus ds fy, l=g ckj ç;Ru fd;k vkSj var esa lQy gks x;kA fujarj vH;kl ,d 

,slh dqath gS tks euq"; ds fy, lQyrk ds }kj [kksy nsrh gSA vH;kl ls fo|k ve`r cu 

tkrh gS vkSj fcuk vH;kl dh fo|k fo"k dk :i èkkj.k dj ysrh gSA tks euq"; vH;kl ugha 

djrk mlds ikl fo|k vfèkd le; rd ugha fVdrh gS A cgqr cM+k xf.krK Hkh ;fn vH;kl 

NksM+ nsxk rks xf.kr mls NksM+ nsxkA f[kykM+h ;fn vc [ksy dk vH;kl ugha djsxk rks dHkh Hkh 

dhfrZeku LFkkfir ugha dj ik,xkA vr% vH;kl vo'; djuk pkfg, A 

1- dfBu dk;Z dSls ljy gks tkrk gS \ 

 ¼d½ nwljksa ij vkfJr jgdj  ¼[k½ HkkX; ds Hkjksls jgdj  ¼x½ fujarj vH;kl djds 

2- lQyrk lkFk dc NksM+ nsrh gS \ 

 ¼d½ vH;kl djus ij   ¼[k½ dke vèkwjk NksM+us ij  ¼x½ vH;kl u djus ij 

3- fujarj vH;kl djuk fdldh dqath gS \ 

   ¼d½ fgEer gkjus dh   ¼[k½ vlQy gksus dh   ¼x½ lQyrk çkIr djus dh 

4- eksgEen xksjh us i`Fohjkt pkSgku ij fot; çkIr djus ds fy, fdruh ckj ç;Ru fd;k \ 

 ¼d½ pkj ckj    ¼[k½ nl ckj     ¼x½ l=g ckj  

5- f[kykM+h ;fn [ksy dk vH;kl ugha djsxk rks dHkh Hkh &&&&& LFkkfir ugha dj ik,xk  

 ¼d½ gkj     ¼[k½ xarO;     ¼x½ dhfrZeku 

c- fuEufyf[kr i|ka'k dks è;ku iwoZd i<+dj fn, x, ç'uksa ds mÙkj nhft, A   5 × 1 = 5 

  eSaus igkM+ ls ek¡xk viuh fLFkjrk dk FkksM+k lk va'k eq>s ns nks igkM+ dk eu uk MksykA  

eSaus >jus ls dgk ns nks FkksM+h lh viuh xfr eq>s Hkh >juk vius ukn esa eLr jgk dqN uk 

cksyk A 

eSaus nwc ls ek¡xh FkksM+h&lh ifo=rk og vius nyksa esa eqLdqjkrh jgh A eSaus Qwyksa ls ek¡xh 

tjk&lh dkseyrk vkSj fpfM+;ksa ls mldk pqVdh Hkj vkdk'k ygjksa ls FkksM+h&lh papy rjyrk] 

èkwi ls ,d VqdM+k mtklA  

vksd esa Hkjus dks [kM+k jgk nsj rd dgha ls dqN uk ik;k A rjl [kk;k gok us gkSys ls dku 

esa cksyh ( ek¡xus ls dqN ugha feysxk nsus ls ikvksxs  

ftruk gh gfj;kyh ck¡Vksxs v¡nj gjs gks tkvksxs A  

6- dfo us fLFkjrk ek¡xh gS&&   

   ¼d½ unh ls     ¼[k½ gjh ?kkl ls    ¼x½ igkM+ ls 

7- dfo us >jus ls nsus ds fy, dgk& 



 

 

 ¼d½ mtkyk     ¼[k½ fLFkjrk     ¼x½ xfr'khyrk 

 

8- ^gfj;kyh ck¡Vus ls* dfo dk rkRi;Z gS && 

 ¼d½ nwljksa ls ek¡xrs jguk    

 ¼[k½ gkFk iSj gkFk èkjs cSBs jguk  

 ¼x½ nwljksa ds dke vkuk mUgsa [kq'kh nsuk  

9- dfork esa fdlus dgk ek¡xus ls dqN ugha feysxk nsus ls ikvksxs & 

 ¼d½ Qwyksa us    ¼[k½ ygjksa us    ¼x½ gok us  

10- ^ukn* 'kCn dk vFkZ gS & 

 ¼d½ dkseyrk    ¼[k½ papy    ¼x½ dy&dy èofu  

l- lgh fodYi ij lgh ¼✓½dk fu'kku yxkb, A      10 × 1 = 10 

11- ^i<+kbZ* 'kCn esa çR;; ç;qä gqvk gS&& 

 ¼d½ b   ¼[k½ bZ   ¼x½ rh    ¼?k½ rk 

12- 'kkunkj 'kCn esa çR;; ç;qä gqvk gS && 

 ¼d½ vkj    ¼[k½ nkj   ¼x½ j      ¼?k½ 'kku 

13- ^o.kksZa dh vko`fÙk* fdl vyadkj esa gksrh gS \ 

 ¼d½ mRçs{kk    ¼[k½ vuqçkl  ¼x½ 'ys"k     ¼?k½ miek 

14- tgk¡ o.kZu  c<+k&p<+kdj fd;k tk, ogk¡ vyadkj gksrk gS && 

 ¼d½ miek    ¼[k½ vfr'k;ksfä   ¼x½ :id     ¼?k½ ;ed 

15- fdlh dFku dks m)`r djus ds fy, ç;ksx fd;k tkrk gS && 

 ¼d½ fooj.k fpà   ¼[k½ m)j.k&fpà   ¼x½ dks"Bd     ¼?k½ ;kstd fpà  

16- ¼A ½ fpà dk uke gS & 

   ¼d½ vYifojke   ¼[k½ mifojke  ¼x½ iw.kZ fojke    ¼?k½ ;kstd fpà  

17- dqN Qwy rksM+ ykvks A ¼ fo'ks"k.k crkb, ½ 

 ¼d½ la[;kokpd   ¼[k½ vfuf'pr la[;kokpd  ¼x½ fuf'pr la[;kokpd  ¼?k½ xq.kokpd 

18- bruk dk;Z Bhd ugha A ¼ fo'ks"k.k crkb, ½ 

 ¼d½ ifjek.kokpd   ¼[k½ la[;kokpd   ¼x½ xq.kokpd    ¼?k½ lkoZukfed 

19- tjk rst pyks A ¼ rst 'kCn fØ;k fo'ks"k.k gS &½ 

 ¼d½ jhfrokpd   ¼[k½ LFkkuokpd   ¼x½ ifjek.kokpd   ¼?k½ dkyokpd 

20- ns'kHkfä Hkh vktdy etkd dh pht gksrh tk jgh gS A ¼ ^vktdy* fØ;k fo'ks"k.k gS & ½ 

 ¼d½ dkyokpd   ¼[k½ LFkku okpd   ¼x½ ifjek.kokpd   ¼?k½ jhfrokpd  

Hkk ¼x½ & c 

II ¼d½ fuEu ç'uksa ds mÙkj nhft, A        6 × 2 = 12 

21- 'kCn vkSj in esa D;k varj gS mnkgj.k lfgr crkb, A 

22- fuEu yksdksfä;ksa ds vFkZ fyf[k, \ 

  v- ,d E;ku esa nks ryokjs ugha lek ldrh  c- vèkty xxjh Nydr tk, 

23- fuEufyf[kr okD;ksa dks 'kq) djds fyf[k, \ 

v- vè;kid th i<+k jgk gS A    c- jes'k vFkok yrk gekjs ;gka vk,xkA 

24- ?kj igq¡pus ij vt; dk lkeuk fdl esgeku ls gqvk \ 

25- nhiw vkSj 'kkyw cpiu esa nknk nknh th dk Lokxr dSls djrs Fks \ 

26- _f"k ik;yV vysDlsbZ esjsL;so us viuh nksuksa Vk¡xsa dSls x¡ok nh Fkh \ 

Hkkx &l 

III funZs'kkuqlkj mÙkj nhft,A 



 

 

& O;kdj.k ls A           4 × 3 = 12 

27- fuEu fojke fpàksa ds uke fyf[k, A 

 ¼d½ ¼ ß Þ ½    ¼[k½ ¼ ( ½    ¼x½ ¼ ! ½ 

 

28- fuEufyf[kr okD;ksa esa incaèk js[kkafdr dj muds çdkj dk uke fyf[k, A 

 ¼d½ dydy djrh gqbZ unh cg jgh gS A  

 ¼[k½ vkids fe=ksa esa ls dksbZ le; ij uk igq¡pk A  

 ¼x½ y[kuÅ tkus okyh xkM+h py nh gS A 

 

29- fuEu okD;ksa dks deZokP; esa ifjofrZr dhft, A 

   ¼d½ lqjs'k fQYe ns[k jgk gS A  

 ¼[k½ pijklh ?kaVk ctkrk gSA  

 ¼x½ fHk[kkjh Hkh[k ek¡x jgk gS A 

30- fuEu okD;ksa dks fu"ksèkokpd ;k udkjkRed okD; esa cnyks A 

 ¼d½ D;k Hkw[k gekjk dqN fcxkM+ ldrh gS \  

 ¼[k½ ;g dke dj nhft, A  

 ¼x½ vjs ! lqjs'k Ldwy tk,xk A 

 & ikB ls A            5 × 3 = 15 

31- ys[kd us ,d ;wjksfi;u dh fnup;kZ ds ckjs esa D;k vuqeku yxk;k \ 

32- vYrqre'k us rktiks'kh ds fy, jft;k dks gh D;ksa pquk \ 

33- f{kfrt dks Mwcus ls cpkus ds ctk; jkscksV us D;k fd;k \ 

34- lsok esa fQj ls fu;qfä gks tkus ij vysDlsbZ us D;k&D;k dkjukes dj fn[kk, \ 

35- fuEuoxZ dks eè;oxZ ls D;k f'kdk;r jgrh gS \ 

& dkO; ls A            2 × 3 = 6 

36- fuEufyf[kr dkO; iafä;ksa dh ls çlax O;k[;k dhft, A 

bls ge iwNrs vk, ;qxks ls] vkSj lqurs Hkh ;qxksa ls vk jgs mÙkj unh dk A eq>s dksbZ dHkh vk;k 

ugha Fkk jkg fn[kykus] cuk;k ekxZ eSaus vki gh viuk A 

<dsyk Fkk f'kykvksa dks] fxjh fuHkÊdrk ls eSa dbZ Åaps çikrksa ls] ouksa esa] danjkvksa esa] HkVdrh] 

Hkwyrh esa Qwyrh mRlkg ls çR;sd ckèkk&fo?u dks] 

Bksdj yxkdj Bsydj] c<+rh xbZ vkxs fujarj ,d rV dks nwljs ls nwjrj djrh A 

37- fuEu dkO; iafä;ksa dks iw.kZ dhft, A 

unh dks &&&&& fdlus fn[kyk;k \ fl[kk;k Fkk mls fdlus dh mldh &&&&& ds osx dks 

&&&&&&& cgus ns A 

IV funZs'kkuqlkj mÙkj nhft, A          3 × 5 = 15 

38- ^esjs fç; vè;kid* fo"k; ij fucaèk fyf[k, A 

vFkok 

    ^eNyh vkSj gkFkh* dh dgkuh fyf[k, 

39- ^o`{kkjksi.k* fo"k; ij ukjk fyf[k, A 

vFkok 

    vkidk cSV d{kk esa jg x;k gS A [kks;k&ik;k cksMZ ij lwpuk fyf[k, A 

 40- nhiksRlo dks è;ku esa j[kdj fo|ky; ds Nk=ksa }kjk cuk, x, nhiksa&eksecfÙk;ksa dh fcØh gsrq    

     foKkiu fyf[k, A 

 

 



 

 

 

 

 

 

 

 

 

 

 

 



 

 

Roll No.           ST. PAUL’S SR. SEC. SCHOOL, AJMER 
  ANNUAL EXAMINATION 2024-25  

Time : 2 ½ hr.   Sub: English Class : VIII      M.M.: 80 
Instructions: 

1. All questions are compulsory. 
2. Question I and II are of Reading and comprehension. 
3. Question III, IV and V are of grammar. 
4. Question VI is of composition. 
5. Question VII, VIII and IX are of text. 

I Read the following passage and answer the questions given below: 

Every morning, the sun rose over the mountains, casting a golden light on the valley below. The villagers 

would wake up early to greet the new day, starting their work with enthusiasm and energy. Among them was 

an old man named Mr. Gupta, who had lived in the village for decades. He had witnessed countless sunrises 

and had always marvelled at the beauty of nature. One morning, a young boy named Rohan approached Mr. 

Gupta and asked, “Why do you wake up so early every day, even when it’s cold and still dark outside?” 

Mr. Gupta smiled and said, “The early morning is when the world is most peaceful. It’s a time for reflection, 

for planning the day, and for feeling connected to the earth. The sunrise reminds me that every day is a new 

beginning, and it’s a gift that should be appreciated.” 

Rohan listened intently, thinking about how rushed and busy his own mornings were. He had never truly 

appreciated the quiet moments before the day began. The next day, he decided to wake up early, just like 

Mr. Gupta. He soon realized how much calmer and more focused he felt as he watched the sunrise. 

Answer the questions given below:         (5x1=5) 

1. What does Mr. Gupta appreciate about the early morning? 

a) The quiet and peaceful atmosphere  b) The time to complete chores 

c) The chance to sleep longer    d) The busy energy of the morning 

2. Why does Rohan ask Mr. Gupta about waking up early? 

a) He is curious about Mr. Gupta’s health.   

b) He wants to learn the secret to success. 

c) He wants to understand why Mr. Gupta wakes up early every day. 

d) He is trying to convince Mr. Gupta to sleep longer. 

3. What is the main lesson Mr. Gupta shares with Rohan? 

a) Morning time should be used to relax and sleep. 

b) The sunrise is a reminder of new beginnings and peace. 

c) It’s important to stay busy in the morning. 

d) You should start the day with excitement and noise. 

4. How does Rohan feel after trying to wake up early the next day? 

a) He feels more rushed.    b) He feels calmer and more focused. 

c) He feels annoyed and restless.   d) He feels tired and sleepy. 

5. What role does nature, especially the sunrise, play in Mr. Gupta's life? 

a) It serves as a reminder of the fast pace of life. 

b) It helps him plan for the day and feel connected to the earth. 

c) It makes him feel stressed about the day ahead. 

d) It encourages him to ignore the needs of others. 

 

II Read the following passage and answer the questions given below: 

In a small town by the sea, there lived a young artist named Lily. Every morning, she would walk along the 

shore, gathering inspiration from the waves and the sky. The sea was her greatest muse, and the sounds of 

the crashing waves helped her focus on her work. Lily loved painting landscapes, capturing the beauty of the 

world around her. She believed that nature was the best teacher, and her paintings reflected her deep 

connection to the environment. One afternoon, as Lily was painting near the cliffs, an older man stopped to 

watch her. He was a traveller, passing through the town. He looked at her canvas and said, “Your work is 

beautiful, but do you ever paint something other than the sea? There’s so much more to the world than this 



 

 

coastline.” Lily smiled and replied, “The sea has always been a part of me. But I do try to capture everything 

around me. The sea, the sky, the mountains—they all inspire me. I find beauty in all parts of nature.” 

The traveler nodded, understanding that Lily's art was more than just pictures; it was a reflection of her soul. 

Answer the questions given below:         (5x1=5) 

6. What is Lily’s main source of inspiration for her artwork? 

a) The people in the town   b) The sea and nature 

c) Her travels around the world  d) Modern technology 

7. What does the traveler suggest to Lily about her paintings? 

a) She should paint only the sea.  b) She should try painting other things besides the sea. 

c) She should stop painting landscapes. d) She should paint portraits of people. 

8. How does Lily feel about nature and art? 

a) She believes nature is her greatest teacher and inspiration. 

b) She only likes painting the sea, ignoring other landscapes. 

c) She prefers to paint abstract art instead of landscapes. 

d) She does not think nature has much influence on her paintings. 

Answer the questions in one word: 
9. Where does Lily live? 

10. What is Lily's art style focused on? 

 

III Choose the correct option from the given below:        (10x1=10) 

11. Mohit doesn't have ________ money.  

a)many   b) the   c) any  

12. I am a study __________ second languages.   

a)an    b) the   c) some   

13.  __________ learning is a dangerous thing.  

a)many   b)a little  c)none  

14. How ________ does the bread cost?  

a)many   b)some  c)much  

15. How ________people are going to the party?  

a)much   b)many  c) some   

16, Identify the figure of speech used: The righteous shall flourish as a palm tree.  

a)Simile   b) metaphor  c) personification   

17. Identify the figure of speech used: I saw the car eating petrol.  

a)Personification  b) Simile  c)metaphor  

18. Identify the figures of speech used: My car was happy to be washed.  

a)Personification  b) Simile  c)metaphor  

19. Synonym for the word kindness is:  

a)compassion   b)active  c)bright  

20. Antonym of the word nervous is:  

a)gain    b) calm  c)bad  

 

IV Do as directed:           (5x1=5) 

21. “Follow me please”, said the waiter. (convert to indirect speech) 

22. “I am getting my haircut,” said Rohan. (convert to indirect speech) 

23. “Please help a poor man,” pleaded the beggar. (convert to indirect speech) 

24. The police are looking for anyone____________. (supply a clause) 

25. Is that the person_______________? (supply a clause) 

  

V Complete the fill ups with appropriate tenses:                    (5) 

26. I still___________ (remember) when Gandhi ji _____________ (assassinate). I ___________ (to be) 

abroad then. It _____________ (to be) my landlady who ___________ (give)me the information. I 

________( want) to know whether it was really true. 

 



 

 

VI Composition: 

27.Compose an E-mail to invite your friend and his/ her family for the marriage function of your brother. (5) 

28. Write an article on ‘Advantages and disadvantages of online education.’               (5) 

 

VII Answer the following in 20 to 30 words:        (4x2=8) 

29. Who is Anne addressing in the extract of her diary? Why is it in the second person? 

30.  What was the risk for Bachendri Pal if she went with Ang Dorjee on the ascent of the summit? 

31. “I finished my poem, and it was beautiful.” Why did Anne write the poem? What was its title? 

32. Why did Brenda mention to Miss Francis that the hockey match was against the high school? 
 

VIII Answer the following in 30 to 50 words:        (4x3=12) 

33. What is the inner meaning of wanted wear in the poem “The road not taken?” 

34. How did the Greybeard realise that a hunter was waiting for him in a concealed position? 

35. What did the king do to find answers to his questions? 

36. Brenda did a few forbidden things that day. What was the last prohibited thing she did that day? 

 

IX Answer the following in 50 to 100 words:        (4x5=20) 

37. Anne describes Mr. Keesing as a fogey. What opinion do you form about Mr. Keesing? Why? 

38. Why did Ang Dorjee want to go to the top from the South Col and be back in a day? 

39. Three punishments were meted out to Brenda. What were they? Did she deserve them? 

40. Create a dialogue delivery between a father and a son related to the future of his son. 
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funsZ'k &  1- losZ iz'uk% vfuok;kZ lfUrA 

  2- iz'ukuke~ vadk% rsu le{kk lfUrA 

  3- ys[ku dk;sZ LoPNrka 'kq)rk /;kua vo';a HkorqA 

Hkkx & v 

I. ¼d½ v/kksfyf[kr x|ka'k ifBRok ,rnk/kkfjr iz'ukuka mÙkjkf.k fodYis"kq fpRok fy[krA           5 × 1 = 5 
egkjk.kk izrko% ,d% vrho ijkØeh ns'kHkDr% p ;ks)k vklhr~A l% egkjk.kk mn;flagL; lq;ksX;% iq=% vklhr~A 

Lons'ka j{ku l% vusdokja fons'kh; lsukfHk% lg ;q)e~ vdjksr~A ^gYnh?kkVh* ukeds LFkys fnYyh'ojs.k vdcjs.k 

lg rL; ;q)e~ vHkor~A dFk;rs ;r~ rfLeu~ ;q)s lSfudkuka jDrsu ,d% jDr tyk'k;% iwfjr% vHkor~A v|kfi 

tuk% xosZ.k ra ohj lknja LejfUrA 

1- d% izrkih ;ks)k vklhr~\ 

¼v½ egkjk.kk izrki ¼c½ mn;flag  ¼l½ vdcj  ¼n½ ckcj% 

2- izrki% dL; iq= vklhr\ 

¼v½ egkjk.kk mn;flag ¼c½ izrkiL;  ¼l½ vdcjL;  ¼n½ ckcjL; 

3- ^tyk'k;* 'kCnL; vFkZ vfLr & 

¼v½ rkykc  ¼c½ leqnz  ¼l½ unh  ¼n½ >juk 

4- fnYyh'ojs.k vdcjs.k lg rL; dq= ;q)eHkor~\ 

¼v½ fnYyh  ¼c½ gYnh ?kkVh  ¼l½ Hkkjr%  ¼n½ fons'k% 

5- ^ns'kHkDr%* bfr inL; fo'ks"k.ka fde~\ 
¼v½ lq;ksX;  ¼c½ ijkØeh  ¼l½ lSfud  ¼n½ ;q)% 

¼[k½ v/kksfyf[kr 'yksda ifBRok ,rnk/kkfjr iz'ukuka mÙkjkf.k fodYis"kq fpRok fy[krA           5 × 1 = 5  
u df'pr~ dL;fpfUe=a] u df'pr~ dL;fpn~ fjiq%A 

O;ogkjs.k tk;Urs] fe=kf.k fjioLrFkkAA 

6- fe=kf.k fjio% p tk;urs & 
¼v½ /kusu  ¼c½ O;ogkjs.k  ¼l½ nkusu  ¼n½ df'pr~ 

7- df'pr~ 'kCnL; d% vFkZ vfLr & 

¼v½ dksbZ  ¼c½ fdlls  ¼l½ dkSu  ¼n½ dc 

8- fjiq% 'kCnL; vFkZ d% vfLr & 

¼v½ jktk  ¼c½ 'k=q   ¼l½ cqjkbZ  ¼n½ detksj 

9- fe=% 'kCnL; foykse in vfLr & 

¼v½ fjiq  ¼c½ O;ogkj  ¼l½ dL;  ¼n½ tk;Urs 

10-  O;ogkjs.k ---------------- fe=kf.k fjioLrFkkA ¼fjDr LFkkua iwj;r½ 
¼v½ tk;Urs  ¼c½ fjiq   ¼l½ u   ¼n½ df'pr~ 

¼x½ v/kksfyf[kr iz'ukuke~ mÙkjkf.k fodYis"kq fpRok fy[kr &          10 × 1 = 10 
11-  iq:"kL; ija fu/kkua & 

¼v½ vlUrks"k%  ¼c½ /kue~  ¼l½ larks"k%  ¼n½ vlUrks"k 

12-  fo'o/keZlEesyue~ vHkor~ & 

¼v½ tkikuns'ks  ¼c½ vesfjdkns'ks  ¼l½ phuns'ks  ¼n½ :lns'ks 



 

 

13-  fgeky;% fLFkr% vfLr & 

¼v½ iwoZ fn'kk;ke~ ¼c½ mÙkj fn'kk;ke~ ¼l½ nf{k.k fn'kk;ke~ ¼n½ if'pe fn'kk;ke~ 

14-  czkã.kL; uke vklhr~ & 

¼v½ czãnÙk%  ¼c½ nsonÙk  ¼l½ fo'onÙk  ¼n½ lksenÙk 

15-  lk/kwuka ifj=k.kk; d% lEHkofr\ 
¼v½ vtqZu%  ¼c½ Jh d`".k%  ¼l½ /keZ%  ¼n½ v/keZ% 

16-  ^l`tkfe* fØ;k;k% d`rZina fde~ vfLr\ 

¼v½ vge~  ¼c½ Hkkjre~  ¼l½ vkReue~  ¼n½ loZHkwrs"kq 

17-  ckY;dkys dkfynkl% vklhr~ & 

¼v½ es/kkoh  ¼c½ prqj%  ¼l½ ew[kZ%  ¼n½ ;ksX;% 

18-  ujL; vkHkj.ka Hkofr & 

¼v½ xq.k%  ¼c½ Kkue~  ¼l½ :ie~  ¼n½ /kue~ 

19-  foKkuL; Js"Bre% vkfo"dkj% vfLr & 

¼v½ jsfM;ks;a=e~ ¼c½ ok;q;kue~  ¼l½ lax.kde~  ¼n½ jsy;kue~ 

20-  ckY;s y{E;k% uke vklhr~ & 

¼v½ ruq  ¼c½ euq   ¼l½ vuq  ¼n½ duq 

Hkkx & Ck 

II. funsZ'kkuqlkja mÙkjkf.k fy[kr &               6 × 2 = 12        
21-  laf/k&foPNsna dq:r ^ 

¼v½ ujL;kHk.ke~ &   ¼c½ ekuksUufre~ &   

22-  lekukFkZd% inS% fy[kr & 
¼v½ fgeky;%     ¼c½ tye~ 

23-  foykse 'kCnkfu fy[kr & 
¼v½ rhoze~    ¼c½ lqxe% 

24- fjDr LFkkukfu iwj;r & 
¼v½ dkfynkl% lEiw.ksZ -------------------- fo[;kr%A ¼fo'os]  bfr½ 

¼c½ viekusu ihfMr% dkfynkl% ------------------ vkjkf/kroku~ ¼egkdkyhe~]  vfHkKku'kkdqUre~½ 

25-  fuEu inkuka izd`fr&izR;; foHkkxa dq:r & 
¼v½ d`roku~ &  --------------------- $ -------------------- 

¼c½ d`Rok & -------------------------- $ -------------------- 

26-  v/kksfyf[krkuka lEeq[ka 'kq) v'kq) ok fy[kr & 

¼v½ O;k?kz% r:.k% vklhr~A   ¼ ½ 

¼c½ czkã.k% ljyàn; vklhrA  ¼ ½ 

Hkkx & l 

III. funsZ'kkuqlkja mÙkjkf.k fy[kr &             11 × 3 = 33        
27-  laLd`rs fy[kr & 

¼v½ nk¡r &   ¼c½ cUnj &   ¼l½ yM~Mw & 

28-  milxkZfu i`Fkda dq:r & 
¼v½ vf/kxPN &  ¼c½ larIr &   ¼l½ mikxPNr~ & 

29-  lekl foxzga dq:r & 
¼v½ jktkizklkne~ &  ¼c½ 'kksdkdqy% &  ¼l½ d`".kliZ% & 

30-  lfU/k dq:r & 
¼v½ l`tkfe $ vge~  ¼c½ Xykfu% $ Hkofr  ¼l½ vfHk $ mRFkkue~ 



 

 

31-  v/kksfyf[kr iz'ukuka laLd`rs mÙkjr fyf[kr & 

¼v½ fo|k;k% dks'k% dhn`'ke~ vfLr\ 

¼c½ :ia dL; vkHkj.ke~ vfLr\ 

¼l½ v/kek% fde~ bPNfUr\ 

32-  v/kksfyf[kr 'kCnkuka LkaLd`r okD;s"kq iz;ksx dq:r & 

¼v½ ioZrjkt%   ¼c½ ous    ¼l½ o`)% 

33-  js[kkafdr 'kCnkuka vk/k`R; iz'ukfu jp;r & 

¼v½ rs deZf.k vf/kdkj% vfLrA 

¼c½ vkRekua ikod% u ngfrA 

¼l½ nsgh th.kkZfu 'kjhjkf.k R;tfrA 

34-  v/kksfyf[kr okD;kfu yV~ ydkjs ifjorZ;r & 

¼v½ czkã.kL; ,d% uotkr% iq=% vklhr~A 

¼c½ czkã.kh udqya iq=or~ viky;r~A 

¼l½ udqy% likZr~ ckyde~ vj{kr~A 

35-  laLd`fr vuqokna dq:r & 

¼v½ dkfynkl dk tUe dgk¡ gqvk\ 

¼c½ dfo;ksa esa dkfynkl Js"B gSaA 

¼l½ dkfynkl us lkr xzUFk fy[ksA 

36-  dkfynklL; ,da&,d jpukuka ukekfu fy[kr & 
¼v½ egkdkO;e~ &  ¼c½ xhfrdkO;e~ &  ¼l½ ukVdkfu & 

37-  okD;kfu 'kq)kfu dq:r & 

¼v½ fgeky;% ioZrjkt% dF;UrsA 

¼c½ fgeky;L; f'k[kjkf.k mUurkfu vfLrA 

¼l½ v= nsohuka eafnje~ vfi vfLrA 

Hkkx & n 

IV. funsZ'kkuqlkja foLrkjiwoZ mÙkjkf.k fy[kr &               3 × 5 = 15        
38- v/kks }; 'yksdL; fgUnh vFkZe~ fy[kr & 

¼v½ ujL;kHkj.ka :ia :idL;kHkj.ka xq.k%A 

    xq.kL;kHkj.ka Kkua KkuL;kHkj.ka {kekAA 

¼c½ ekr`or~ ijnkjs"kq] ijnzO;s"kq yks"Bor~A 

    vkReor~ loZHkwrs"kq ;% i';fr l% if.Mr%AA 

39- v/kksfyf[kr laokne~ eŒtw"kk;ka iznÙk 'kCnS% iwj;r & 

¼ew[kkZ.kka]  dk;kZf.k]  vuqHkokr~]  ijL;]  egku]  cqf)eku]  f'k{krs]  ew[kZ%½ 

 jk?ko% & Hkks je.khdA Hkoku~ dFke~ bZn`'k% ------------------- tkr%\ 

 je.khd% & ---------------d`Ik;k ,oA 

 jk?ko% & Hkks%A dFka ew[kkZ.kka d`Ik;k Hkoku~ ----------------- tkr%A 

 je.khd% & vke~A vga ew[kkZ% d`rkfu -------------vi';u~ rkfu vR;tr~A 

 jk?ko% &  ,oe~ ijs"kke~ ------------------ f'k{kka x`ghRok Hkoku~ cqf)eku tkr% fde~\ 

 je.khd% & lR;e~A ;% ijs"kka vuqHkokr~ ---------------- l% ,o cqf)eku~A 

 jk?ko% & d% rkor~ ---------------A 

 je.khd% & ;% --------------- vuqHkokr~ u f'k{krsA 

40-  ^prqj% O;k?kz%* ikBL; dFkk Lo'kCns"kq fgUnh Hkk"kk;ke~ fy[krA 



 

 

  St. Paul’s Sr. Sec. School, Ajmer 

              Yearly Examination 2024-25 

Time: 2½ Hrs.        Mathematics    (Class-VIII)       M M: 80 
 

 Instructions:-  

 (i) This Question Paper has 5 Sections A, B, C, D and E. 

 (ii) Section A has 20 MCQs carrying 1 mark each. 

 (iii) Section B has 5 questions carrying 02 marks each. 

 (iv) Section C has 6 questions carrying 03 marks each. 

 (v) Section D has 4 questions carrying 05 marks each. 

 (vi) Section E has 3 case study based questions (04 marks each) with sub- parts of the values of 1, 

       1 and 2 marks each respectively. 
 (vii) All Questions are compulsory.  

 (viii) Draw neat figures wherever required. Take π =22/7 wherever required if not stated. 

         Section- A     20 ×1 = 20 marks 
(Choose the correct option and write in your answer sheet.) 

1) Sum of the first n odd natural numbers is given by: -  

(a) n2-1   (b) n2  (c) n2+1  (d) 2n+1 

2) What is the square of 2.6? 

(a) 6.76   (b) 5.76  (c) 7.84  (d) 3.24 

3) The value of 20.4 × 19.6 is: -  

(a) 399.86   (b) 399.84  (c) 398.6  (d) 398.4 

4) The sum of 3x2y and 14x2y is: -  

(a) 12x2y   (b) 18xy2  (c) 17x2y  (d) 21x2y 

5) The quadrilateral formed by joining the midpoints of the sides of a quadrilateral is a: -  

(a) Square   (b) rectangle  (c) parallelogram   (d) kite 

6) If the three angles of a quadrilateral are 100°,50° and 50° respectively, then fourth angle is: -  

(a) 140°   (b) 160°  (c) 120°  (d) 100° 

7) Volume of a right circular cylinder with base radius ‘r’ and height ‘h’ is: -  

(a) 2πrh   (b) πr2h  (c) πrh   (d) 2πr2h 

8)   Today is Sunday. What is the chance that tomorrow will be Monday? 

(a) No   (b) Sure  (c) Poor  (d) Even 

9) The classes 40-49,50-59,60-69 are: -  

(a) Continuous  (b) discontinuous  (c) data insufficient  (d) none of these  

10) If a linear graph is parallel to y-axis, then this implies: -  

(a) x is constant  (b) y is constant  (c) both x and y are constant (d) all of these 

(Q. No. 11-12) Match the following: -  

 

11)   

 

 

Correct combinations are: -  

(a) a-q, b-r, c-p, d-s  (b) a-p, b-q, c-r, d-s   (c) a-q, b-r, c-s, d-p  (d) a-r, b-s, c-p, d-q  



 

 

 

12)  

  

 

 

 

 

 

Correct combinations are: -  

(a) a-q, b-r, c-p, d-s  (b) a-p, b-q, c-r, d-s  (c) a-q, b-r, c-s, d-p  (d) a-r, b-s, c-p, d-q   

 (Q. No. 13-14) Fill in the blanks: -   

13) Histogram is a bar graph with no ____________between the bars. 

(a) Data   (b) gaps (c) numbers   (d) angle 

14) The point (6, -2) lies in ________quadrant. 

(a) I   (b) II   (c) III    (d) IV 

 (Q. No. 15-17) Assertion and Reason based questions: -  

 In the following question, the Assertion (A) and Reason(R) have been put forward .Read both the 

statements carefully and choose correct alternative from the following.   

(A) Both the Assertion and the Reason are correct and the Reason is the correct explanation of the Assertion. 

(B) The Assertion and the Reason are correct but the Reason is not the correct explanation of the Assertion. 

(C) Our Assertion is true but the Reason is false. 

(D) The statement of the Assertion is false but the Reason is true. 

 

15) Assertion: - In the experiment of throwing a die once, ‘getting 1’,’getting  

                         2’……’getting 6’ is an event. 

Reason: - Each outcome or collection of outcomes of an experiment is called an event. 

16) Assertion: - The point (0,5) lies on the ‘x’ axis. 

Reason: - The ‘x’ coordinate of any point lying on the y axis is 0. 

17) Assertion: - y2-81=(y+9) (y-9) 

Reason: - (a-b)2 = a2-2ab+b2 

(Q. No. 18-20) Case study based questions: -  

A parking lot is the area where vehicles are parked and left temporarily. It is usually near businesses, 

hospitals, government buildings, schools, hotels, etc. There is a parking lot outside Rohan's house in 

the shape of a square whose side is 56 m. Now, answer the following questions. 

18) Find the area of the parking lot: - 

      (a) 3136m2   (b) 2916m2   (c) 1296m2   (d) 2116m2 

19) If the area of the parking lot is 2401m2, what will be the side of this parking lot? 

     (a) 42 m   (b) 32 m   (c) 49 m   (d) 42 m  

20) There are 140 cars of the same type in a society. A guard wants the cars to be parked in such a way that 

the number of cars in the row and column are same. Find the minimum number of cars required for this 

arrangement. 

   (a) 1     (b) 4     (c) 3     (d) 2 

    Section- B                                      5 ×2=10 marks 

21) Find the volume of right circular cylinder of radius of the base 7 cm and the height 40 cm. 

22) Find the square root of 6561 using prime factorization method. 



 

 

23) Find the number of digits in the square root of 15129. 

24) What must be subtracted from 4562 to get a perfect square? 

 

25) If a = 1 and b = - 2, then find the value of -5ab × 3a2 b2. 

Or 

      Solve: -           
𝑥+2

3
 - 
𝑥−3

4
 = 5 - 

𝑥−1

2
 and verify the answer. 

Section- C                                   6 × 3=18 marks 
26) Two adjacent angles of a parallelogram are in the ratio 7: 2. Find the measure of all the angles of 

parallelogram. 

27) If the area of trapezium is 28 cm2 and one of its parallel sides is 6 cm, find the other parallel sides if the 

altitude is 4 cm. 

28) The ratio of sides of a parallelogram is 3: 5 and the perimeter is 48 cm. Find the sides of the 

parallelogram.    

29) 1296 plants are to be planted in a garden in such a way that each row contains as many plants as the 

number of rows. Find the number of rows and the number of plants in each row. 

30) If P = 5x3+3x2-4x+1, Q = 3x3+5x2+3x-8, and R= 6x3-4x2-7x+3 

     Find the value of (P+Q)-R 

31) Four angles of a quadrilateral are in the ratio 2:3:4:1. Find the angles. 

Or 

The sum of two angles of a quadrilateral is 150° and the other angles are in the ratio 2:3. Find the 

measure of each angle. 

Section- D                                   4 × 5 = 20 marks 
32) 20 number slips numbered from 1 to 20 are kept in a bowl and mixed well. One slip is chosen from the 

bowl without looking into it. What is the probability of getting: - 

(a) a number 5 (b) a number greater than 15 (c) a 1-digit number. 

33) Prove that a rhombus with one angle 90° is a square. 

34) The sides of a triangle are 25 cm, 39 cm and 56 cm find: -  

(a) The area of the triangle (b) the length of the perpendicular drawn from the opposite vertex to the side 

     of 25 cm. 

Or 

    The dimensions of a cuboid are in the ratio 3: 2: 1 and the total surface area is 2816 cm2, find its   

    volume. 

35) A gardener has 5 varieties of plants in his garden. Their number is shown in the following table: -  

 

 

 

Draw a pie chart to represent the above data. 

Section- E                                   3 × 4 = 12 marks 
CASE STUDY BASED QUESTIONS 

 

36) Somesh runs a juice corner. He has two types of glasses to serve juice as shown below: 

Name of flower TULIP ROSE POPPY PANSY LOTUS 

Number of flowers 50 80 60 70 40 



 

 

 

 

 

 

 

 

 

(a) Which glass has more capacity? (1)  

(b) Find total surface area of cuboidal glass excluding top? (1) 

(c) One day Somesh sells 70 glasses of juice in glass I and 100 glasses of juice in glass. How much does  

      he earns that day if the cost of 20 ml juice is ₹5? (2) 

 

37) Observe the graph given below and answer the following questions: 

  (i) Change in y when x changes from 0 to 2.   (1) 

 (ii) Change in y when x changes from 2 to 4.   (1) 

 (iii) Change in y when x changes from 4 to 8 and  

        Change in y when x changes for 0 to 8.   (2) 

 

 

 

 

 

38) Adjoining pie-chart gives the expenditure (in percentage) on various items and savings of a family 

during a month. 

Study the given pie-chart and answer the questions:-  

(i) On which item the expenditure was maximum? (1) 

(ii) On which item the expenditure was minimum? (1) 

(iii) If the on clothes is Rs 3000. What is the expenditure on 

       Others and clothes? (2) 

 

 

 

 

 
***************************** 



 

 

ROLL NO.       ST. PAUL'S SR. SEC. SCHOOL, AJMER 

YEARLY EXAMINATION 2024-25 

Time :2.30Hrs.   Subject: Science (Class VIII)    M.M. – 80 

General Instructions-  

i. This question paper consists of 37 question in 6 sections 

ii. All Questions are compulsory. However, an internal choice is provided in some questions. 

iii. Section A consists of 20 objective type questions carrying 1 mark each. 

iv. Section B consists of 3 very short questions carrying 2 marks each. 

v. Section C consists of 5 short answer type –I questions carrying 3 marks each. 

vi. Section D consists of 4 short answer type – II questions carrying 4 marks each. 

vii. Section E consists of 3 long answer type questions carrying 5 marks each. 

viii. Section F consists of 2 case based questions carrying 4 marks each. 

 

Section – A 

1. What are pathogens? 

 (a) Disease causing micro-organisms (b) Beneficial micro-organisms 

 (c) Micro-organisms used in industries  (d) Carriers of disease 

2. Which of the following is the correctly matched pair? 

 (a) Rabies-bacteria  (b) Tuberculosis-virus 

 (c) Measles-fungi  (d) Cholera-bacteria 

3. The substance that does not burn with flame is 

(a) LPG (b) Camphor (c) Dry grass (d) Charcoal 

4. In human beings, after fertilisation, the structure which gets embedded in the wall of uterus is 

 (a) Ovum (b) Embryo (c) Foetus (d) Zygote 

5. For the metamorphosis of tadpoles which of the following elements must be available in water? 

 (a) Chlorine (b) Carbon (c) Sulphur (d) Iodine 

6. Mountaineers carry oxygen cylinder with them due to  

 (a) High atmospheric pressure (b) Constant pressure  

 (c) Moderate pressure  (d) Low atmospheric pressure 

7. The loudness of sound depends on  

 (a) It's amplitude  (b) It's frequency 

 (c) It's time period  (d) It's speed 

8. The process in which any electrolyte gets decomposed when electricity is passes through it, is called 

 (a) electrolysis (b) decomposition (c) dissociation (d) splitting 

9. The outermost layer of earth is called 

(a) Mantle (b) Outer core (c) Crust (d) Inner core 

10. The defect of eye in which the vision becomes foggy and objects appear dim, is 

 (a) Cataract  (b) Myopia 

 (c) Night blindness   (d) Hypermetropia 

11. Match the following for the flame of a candle 

Column I  Column II 

A. Hottest part  I. Innermost zone of unburnt wax vapours 

B. Moderately hot  II. Middle zone of partial combustion  

C. Least hot  III. Outer zone of complete combustion  



 

 

(a) A-III, B-II, C-I  (b) A-I, B-II, C-III 

(c) A-II, B-I, C-III  (d) A-I, B-III, C-II 

12. Which option correctly matches the given columns?  

Column I  Column II 

A. Contact force  I. Pressure exerted by air 

B. Pressure  II. Muscular force 

C. Non-contact force  III. Force per unit area 

D. Atmospheric pressure IV. Electrostatic force 

(a) A-III, B-IV, C-I, D-II (b) A-IV, B-III, C-II, D-I 

(c) A-II, B-III, C-IV, D-I (d) A-II, B-IV, C-I, D-III 

13. Structure present in a cell which is responsible for determination of the sex of a baby is ______  

(a) cytoplasm (b) cell membrane (c) nucleus (d) chromosome 

14. Atmospheric pressure _______ with height above sea level. 

(a) decreases (b) increases (c) does not change (d) cannot say 

 In the following questions a statement of Assertion (A) is followed by a statement of reason (R). Mark 

the correct choice as –  

 (a) Both assertion (A) and Reason (R) are true and reason (R) is the correct explanation of assertion (A). 

 (b) Both assertion (A) and Reason (R) are true but reason (R) is not the correct explanation of assertion (A) 

 (c) Assertion (A) is true but reason (R) is false. 

 (d) Assertion (A) is false but reason (R) is true. 

15. Assertion –The process of decomposition of sugar molecules by the action of microbes is called 

fermentation. 

Reason – Vaccines are made by the process of fermentation. 

16. Term for changes at adolescence is known as ______. 

(a) Thyroxine (b) Voice box (c) Puberty (d) Hormone 

17. The object to be electroplated is taken as _____ electrode. 

(a) Cathode (b) Anode (c) Chromium (d) None of the above 

 

Case Based Questions  

 Sound is a form of energy that enables us to hear, It plays an important role in our life. Sound is 

produced by the vibration of objects and different types of instruments are used to produce sound. In 

humans, sound is produced by the voice box or larynx .Sound needs a medium to propagate hence is space it 

is not possible to hear one another. Sound wave, is a longitudinal wave. A wave is characterised by an 

amplitude and frequency. Like light sound is also reflected from a surface. Sound is also absorbed by a 

medium. Therefore, walls of a theatre are lined with layers of materials that absorb sound. Sound materials 

travels with different speeds in different media and travels fastest in solids. 

18. Sound travels the fastest in 

(a) Liquid (b) Solids (c) Vacuum (d) Gases 

19. Sound cannot travel in 

(a) Solids (b) Liquids (d) Gases (d) Vacuum 

20. We can distinguish a shrill sound from a flat sound from a flat sound by its 

(a) Loudness  (b) Amplitude (c) Frequency (d) Pitch 

 

Section B 

21. How many chromosomes are there in a human cell? How do the chromosomes in males and females 

differ? 

22. If air and cloud were good conductors of electricity, do you think lightning could occur? Explain. 



 

 

23. Differentiate between regular and diffused reflection. 

Or 

 

Write down the names of parts of the eye in the blank spaces shown in the figure. 

 
Section C 

24. (i) Fill in the blank circles in figure and Identify the sex of child A and B. 

(ii) Write a short note on sex determination in the unborn body. 

 
25. An alarm bell is kept inside a vessel as shown in the figure. A person standing close to it can distinctly 

hear the sound of alarm. Now if the air inside vessel is removed completely how will the loudness of 

alarm get  affected for the same person? 

 
26. What do you understand by hydrolysis of water. 

Or 

 What is chemical effect of electricity? 

27. (a) What are the two types of charges? 

(b) On rubbing a glass rod with silk cloth, what type of charge is generated in  

(i) Silk cloth (ii) Glass rod 

 (c) Explain why a charged body loses its charge if we touch it with our hand. 

28. (a) What is virtual image? 

(b) What kind of image does a plane mirror form? 

(c) What is lateral inversion? 

 

Section D 

29. Give reasons - 

(a) Kerosene burns with a blue flame in a wick stove but produces a yellow flame when burnt in a 

lamp. 

(b) It is not advisable to sleep in a closed room with a coal-fired fire place. 



 

 

(c) Why does a phuljhari (Sparking light) require some heating before it sparks? 

(d) Crackers on ignition produce sound. Why? 

 

 

 

30. (a) Identify the figure. 

(b) How does it work? 

 
31. What is dispersion of light? Describe a natural phenomenon based on dispersion of light? 

 

Section – D 

32. (i) Identify the location of endocrine glands in the human body. 

(ii) Write their names and functions.  

 
33. (i) How is sound produced? 

(ii) Give two uses of ultrasonic sound. 

(iii) What is the audible range of human ear? 

(iv) What is the difference between noise and music? 

(v) List any two measures to reduce noise pollution. 

Or 

(i) What are the characteristics of sound? 

(ii) Write an activity to show that sound can travel through air but not through vacuum. 

34. How would you electroplate an iron spoon with copper? Describe with a diagram. 

 

35. Animals have eyes shaped in different ways. Eyes of a crab are quite small but they enable the crab to 

look but they enable the crab to look all around. So, the crab can sense even if the enemy approaches 

from behind. Butterflies have large eyes that seem to be made up of thousands of little eyes. They can 

see not only in the front and the sides but the back as well. A night bird (owl) can see very well in the 



 

 

night but not during the day, on the other hand the owl has a large cornea and a large pupil to allow 

more light in its eye. Also, it has on its retina a large number of rods and only a few cones. The day 

birds on the other hand, have more cones and fewer rods. 

(i)  Which kind of cells are sensitive to dim light? 

(ii) What is the differences between day bird and the night bird's eye? 

(iii) Explain the features of crab's eye. 

36. It is observed that when a charged glass rod is brought near a charged plastic straw rubbed with 

polythene there is attraction between the two. The electrical charges generated by rubbing are static. 

They do not move by themselves. When charges move, they constitute an electric current.  

(a) How does the electric current flow? 

(b) Why are the charges develop by rubbing, statics?  

(c) Plastics straws A and B are rubbed with dry cotton cloth. What will happen if they are brought near 

each other. 

37. In 1800, a British chemist, William Nichlson (1753-1815), had shown that if electrodes were immersed 

in water, and a current was passed, bubbles of oxygen and hydrogen were produced. Oxygen bubbles 

formed on the electrode connected to the positive terminal of the battery and hydrogen bubble formed 

on the other electrode. 

(i) On which electrode, oxygen is obtained in the electrolysis of water. 

(ii) Does pure water conduct electricity? 

         (iii) There are two types of electrodes in electrolysis process.Name them with their charges. 
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Time : 2½ hrs               M. Marks : 80 
General Instructions : 

(i)  This Question paper has 37 questions. 

(ii)   Ques. 1 to 20 are objective type questions. Each question carries 1 marks. Make Table in your answer 

sheet and write answer in it 

Q. 1 2 3 4 5 6 7 8 9 10 

Ans.           

Q. 11 12 13 14 15 16 17 18 19 20 

Ans.           

(iii)  Ques. 21 to 23 are very short answer type question. (one words or in one sentence). 

(iv)  Ques. 24 to 28 are short answer type-I question. (Word limit 50 words). 

(v)   Ques. 29 to 32 are short answer type-II question. (Word limit 50-80 words). 

(vi)  Ques. 33 to 34 are long answer type question. (Word limit 120 words). 

(vii)  Ques. 35 is map based question. 

(viii)  Ques. 36 and 37 are case study based question. 

Choose the correct option and write in your answer sheet     (20x1=20) 

1.  The Nij and Ryoti System of cultivation were related to which crop. 

(a) Tea   (b) Cotton   (c) Sugarcane  (d) Indigo 

2.  Which of the following layers contain most of the plant nutrients? 

(a) Humus  (b) Topsoil   (c) Subsoil  (d) Parent Rock 

3.  Laws are made by 

(a) Legislature   (b) Ministers   (c) Judiciary  (d) Executive 

4.  Who wrote the autobiography ‘Amar Jibon’? 

(a) Savitribai Phule (b) Rashsundari Devi  (c) Sultan Jahan (d) Ghasidas 

5.  Which of the following water source is unfit for consumption or use in Agriculture. 

(a) Rivers   (b) Tanks   (c) Oceans  (d) Rainfall 

6.  A Society holding the principle of Equal rights for all.  

(a) Mainstream  (b) Egalitarian   (c) Displaced  (d) Insurgency 

7.  Who led the Revolt in Bihar and in the areas around Banaras? 

(a) Kunwar Singh  (b) Tantia Tope  (c) Nana Sahib (d) Lord Irwin 

8.  The rainforest of Amazon Basin are  

(a) Selvas  (b) Taiga (c) Mangroves  (d) None of these 

9. The clear and safe water fit for human consumption is  

(a) Potable water   (b) Canal water  (c) Tap water  (d) None of these 

10. Who attacked the orientalist? 

(a) Chandra Bardai (b) James Mill   (c) Abu Fazl  (d) Coolebroke 

11. Match the column. 

 A  B 

(i) Jyoti Rao phule (a) Stripurushatulna 

(ii) Tarabai Shinde (b) 1875 

(iii) Arya Samaj (c) 1830 

(iv) Brahmo Samaj (d) Satya Shodhak Samaj 

 (a) i- (a), ii- (b), iii- (c), iv – (d)   (b) i- (b), ii- (a), iii- (c),  iv – (d) 

 (c) i- (c), ii- (b), iii- (a),  iv – (d)   (d) i- (d), ii- (a), iii- (b),  iv – (c) 

12. Match the column and choose the correct option. 

 A  B 

(i) Hirakund Project (a) Krishna river 

(ii) Nagarjuna Project (b) Satluj river 

(iii) Sardar Sarovar dam (c) Mahanadi river 



 

 

(iv) Bhakra Nangal Project (d) Narmada river 

 (a) i- (b), ii- (a), iii- (c), iv – (d)   (b) i- (a), ii- (b), iii- (c),  iv – (d) 

 (c) i- (c), ii- (a), iii- (d),  iv – (b)   (d) i- (b), ii- (d), iii- (a),  iv – (c) 

Fill in the blanks. 

13.  The supreme court was established in the year _____________ 

14.  The slogan ‘Swaraj is my birthright’ was given by _____________ 

Assertion and Reason. 

 In the question (Q.15 to Q.17) there are two statements marked as Assertion (A) and Reason (R). Read 

the statement and choose the correct option.  

(a) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct explanation of Assertion 

(A).  

(b) Both Assertion (A) and Reason (R) are correct best Reason (R) is not the correct explanation of 

Assertion (A). 

(c) Assertion (A) is true but Reason (R) is false. 

(d) Assertion (A) is false  but Reason (R) is true. 

15.  Assertion (A) – On march 29, at the Barrack pore parade ground, 29 year old Mangal Pandey declared 

that he would rebel against his commanders.   

 Reason (R) – BNI came to know about new cartridges which had a casing make of cow and pig fat which 

had to be bitten off by mouth.  

16.  Assertion (A) – Cottage Industries are the family enterprises. 

 Reason (R) – Use of mechanical power is limited in cottage industry.  

17.  Assertion (A) – The power of the supreme court `is not subject to any law made by the parliament of 

India. 

 Reason (R) – Only an impartial and independent Judiciary can protect the rights of individual without 

fear or favour.  

Read the passage and answer the questions 

 Indigo was cultivatd under two main system – nij and ryoti. In the nij system of cultivation the planter 

produced indigo in lands he directly controlled. The nij cultivation on a wide scale also required many 

ploughs and bullocks. One Bigha of indigo cultivation required two ploughs which means that a planter 

with 1000 bighas would need 2000 ploughs when the indigo planters needed them the ploughs where not 

easily available as many ploughs were busy on the rice fields. 

18. What was cultivated under the two systems nij and ryoti. 

 (a) Indigo   (b) Rice  (c) Cotton  (d) Jute  

19. In which cultivation the planter produced Indigo on Lands directly controlled by them  

 (a) Ryoti   (b) Mahalwari  (c) Nij   (d) None of these 

20. Two ploughs were required for how much bigha of Indigo cultivation.  

 (a) Three   (b) Two  (c) Four  (d) One 

Answer the following Questions in 20 words       (3x2=6) 

21. Write two features of Non cooperation movement. 

22. What is meant by density of population? How is it measured? 

23. Explain the structure of courts in India. 

Answer the following Questions in 50 words       (5x3=15) 

24. Write features of permanent settlement. 

25. Explain Nomadic Herding. 

26. What is an Independent Judiciary? Explain.  

27. Why people were afraid to send girls to school in mid 19th century. 

28. Explain pastoral based Industries and marine based Industries. 

Answer the following Questions in 80 words       (4x4=16) 

29. Discuss the contribution and achievements of Dr. B.R. Ambedkar in the field of social reform.  

30. What is meant by human Resource? Why is human Resource Considered the most important resource? 

31. What is the Role of Judiciary? Explain. 

32. Explain various characteristic of small scale industries. 

 



 

 

Answer the following Questions in 20 words       (2x5=10) 

33. Differentiate between the policies and programmes of Moderate and Radicals. 

34. Discuss the role of the government in regard to public facilities. 

Map based question           (1x5=5) 

35. On the outline of physical map of India indicate the following. 

 (a) Gandhi Sagar  (b) Nagarjuna Sagar (c) Tungabhadra 

 (d) Damodar Valley (e) Sardar Sarovar 

36. The credit of producing Iron and steel on moderu lines goes to Jamshedji Narottam Tata. He was the 

pioneer in setting up large plant for mass production in India. For this he is also called the ‘Fatehr of India 

Metallurgy. The Tata Iron and steel company (now called Tata Steel Ltd.) was set up by J.N. Tata in 1907 

at sakchi in Bihar Tisco is located at the confluence of khrkai and Subarnarekha rivers. Tisco is one of 

the oldest, greatest and largest integrated steel plants in entre Asia. It Started production of pig Iron in 

191. Today it is the only private sector steel plant in India.     (1+1+2=4) 

 (1) Who is called the father of Indian Metallurgy? 

 (2) What is the full form of Tisco. 

 (3) Write few lines on Tata Iron and Steel Company. 

37. The technique of converting natural or man made raw material into finished products is termed as 

manufacturing. It is a secondary acting. Industry refers to an economic activity conserved with production 

of goods, extraction of minerals and the provision of services. Industries involve processing of raw 

materials to produce ware valuable products in large quantities. The Industrial Revolution stared with 

invention of steam Engine in 1769 in England. The examples were Iron and Steel Industry, coalmining 

Industry, Tourism Industry atc.        (1+1+2=4) 

 (1) Write two examples for Industries. 

 (2)  How the Industrial Revolution was started? 

 (3) Explain the term Industries.  
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SECTION A 
 

1.   Which of the following is not a selection tool? 

 (a) Paint Bucket   (b) Lasso   (c) Rectangular Marquee 

2.   Which tool is used to relocate an image? 

 (a) Move Tool    (b) Eraser Toll   (c) Gradient Tool  

3.   Which of these is not a looping structure? 

 (a) If     (b) For    (c) While 

4.   Fooling people with attractive fake offers is called:  

 (a) Cracker    (b) Programmer  (c) Hacker 

5.   Light Peak is introduced by: 

 (a) Lenovo    (b) Dell   (c) Intel 

6.   Which of these is not an ability of natural language processing? 

 (a) Analyze    (b) Understand  (c) Create Language 
 

 

 

SECTION B 
 

7.    Working area of Photoshop is called ___________. 

8.    You need to ________ an image prior to moving it. 

9.    A looping structure is also called a _________ structure. 

10.  A Trojan horse is an example of a ________. 

11.  ______ printing can print objects larger than the printer. 

12.  Machine Learning is a _________ of AI which uses mathematical models & allow system to learn. 
 
 
 

SECTION C 
 

13.  What is Photoshop? 

14.  What is Gradient Tool? 

15.  What is a loop? 

16.  Define computer Ethics? 

17.  What is the goal of artificial intelligence? 

18.  What is Machine Learning? 
 

SECTION D 
 

19.  Describe the Workspace and Image window. 

20.  Distinguish between the Magic Wand Tool and Quick Selection Tool. 

21.  What is nested loop? 

22.  Explain Cyber security and its advantages. 

23.  Explain multi-touch technology and its advantages. 

24.  Explain Supervised Machine Learning? 
 



 

 

SECTION E 
 

 

25.  Explain the speech-to-speech translation process. 

26.  List Five challenges in AI. 
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NOTE: Attempt all the questions & all the questions carry equal marks.(1*50=50) 

(I) Multiple Choice Questions: - (Instruction: - Write correct option A, B, C or D as your answer) 

1) First Asian to win Nobel Prize: - 

 (a) Mahatma  Gandhi   (b)  Subhash Chandra Bose  (c)  Sardar Patel  (d) Rabindranath Tagore 

2) Who is the king of all Greek mythology: - 

  (a) Varun       (b)  Helius     (c) Apollo    (d) Zeus 

3) Which leader was caricatured as Super Mac? -  

 (a) Karl Marx     (b) Harold Macmillan  (c) Putin     (d) Saddam Husain 

4) Who is the sun Goddess of Japan?: - 

 (a)  Sumo      (b) Amaterasu    (c)  Fire      (d) Air  

5) Full form of IP: - 

 (a) Internet Protocol   (b)  International Problem (c) Intelligent Port (d) Indian pelican   

6) Which American President was also called teddy: - 

     (a)  Donald Trump   (b) Barak Obama   (c) Theodore Roosevelt  (d) John F Kennedy 

7) Which part of a flower contains the pollen: - 

 (a) Petals       (b) Pedicle     (c) Anther    (d) Stem 

8) Who wrote the novel “The Name of the Rose”: - 

 (a) Umberto Eco    (b) Kiran Desai    (c) Mahatma Gandhi  (d) Putin 

9) Who is known as Parrot of India: - 

 (a) Sarojini Naidu   (b) Usha Uthup    (c) Alka Yagnik   (d) Sunidhi Chauhan  

10) Who is known as Bard of Avon: - 

 (a) William Shakespeare (b) Rabindranath Tagore (c) Karl Marx    (d) Kiran Desai 

11) Square cut is related to: - 

 (a)  Football     (b) Cricket     (c) Hockey     (d) Chess 

12) Where is Lord's Cricket Ground situated: - 

 (a) Egypt       (b) Norway     (c) London, England (d) Sri Lanka 

13) Martina Navratilova belongs to which country: - 

 (a) Pakistan        (b) China      (c) Russia     (d) USA  

14) How many players are there in kho kho: - 

  (a)  12 players (6 on each team) (b) 8       (c) 10       (d) 15 

15) Who wrote Maneaters of Kumaon: - 

  (a) Lajpat Rai     (b) Jim Corbett   (c) Lew Wallace   (d) D H Lawrence 

(II) Fill in the blanks: -  

16) The youngest social science is____________. 

17) Das Capital was written by__________ 

18) Make hay while the_______________ 

19) Full form of ISRO is________________. 

20) Blood is thicker_______________. 

21) Poland has________as its national flower. 

22) ______________was the British politician of the 1940s and 50s known as Rab. 

23) A ________is made up of air or fire and is mischievous. 



 

 

24) If Sita was Rama's wife, then __________ was Lakshmana's wife. 

25) A mythical bird which sets fire to its own nest. _________________. 

26) First Asian to win Nobel Prize. Writer of National Anthem of India and Bangladesh.____________. 

27) International year of Peace. _____________. 

28) International year of Pulses ______________. 

29) "The shortest way to Glory is to be guided by conscience."__________(Who gave this quote?) 

30) "Dream, dream dream until the dream comes true."_____________. (Who gave this quote?) 

 

 (III) State whether the given statements are True or False: -  

31) Kashmir is famous for Zari work. (True/False)_______ 

32) Kapil Dev is known as Haryana Hurricane. (True/False)__________ 

33) "Gitanjali " was written by Jawaharlal Nehru. (True/False)_________ 

34) Term Googly" is related to Billiards. (True/False)____________ 

35) Lotus is the National flower of Pakistan. (True/False)___________ 

 

 (IV) Match the following: -  

36) Race Aganist Time      (a) Seldom rarely 

37) Once in a blue moon    (b) An important person 

38) A big gun         (c) To achieve the goal. 

39) To hit the bull's eye    (d) Ordinary water 

40) Adam's ale        (e) To try hard 

 

 (V) Answer the following Questions: -  

41) Where was India’s first diabetes biobank established by ICMR and MDRF in December 2024? 

42) Who was the President of Syria for the past 24 years, who fled the country after the rebel forces took 

control in December 2024? 

43) When is Human Rights Day observed annually? 

44) Which team won the 2024–25 Syed Mushtaq Ali Trophy on 15 December 2024? 

45) Who won the 2024 Sahitya Akademi Award for English for her novel Spirit Nights in December2024? 

46) Which institution was awarded the Raja Mansingh Tomar Samman for the year 2023 in December 2024? 

47) Which country won the inaugural 2024 ACC Under-19 Women’s T20 Asia Cup on 22 December 2024? 

48) Which Indian cricketer announced his retirement from all forms of cricket on 18 December 2024, on the 

last day of the third Test against Australia in Brisbane? 

49) Who etched her name in history as the youngest female, at 17 years old, to conquer the highest peak on 

each of the seven continents on 29 December 2024? 

50) Which village in Gujarat became the country’s first solar border village in December 2024? 
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